Module-10. Inverter & UPS | $+a¢¥ Td gUTH

Q1. What is the minimum permissible single phase working voltage, if the declared voltage is
240V as per ISI? | I HTSTHIITS o HTAR ¥ dleesT 240V § Al #gTcTd ITHd Tehel TROT
FIIefe alecsT FT 872

(A) 233V

(B) 228V

(C) 216V

(D) 211V

answer:B

Q2. What is the advantage of on-line UPS over offline UPS? | WWWW
JUIUH T T BT 572

(A) Supplies constant power output | feeR fasTell Screst T 3Mfc e &

(B) It gives constant output frequency | Ig facR 3M3eqe sPrerelt & g

(C) Works on single phase or three phase supply | Uih_or TOT T Aled TROT mﬁ 9T ohlH ohdl
3

(D) Free from change over and transition problems | GR@ciel 3iR HsheOT hT FHEATHT & HeF
answer:D

Q3. Which term refers to the mass of a substance liberated from an electrolyte by one
coulomb of electricity? | FF& 26 & T § T foreT 9aTd &1 Gea#ATe SeaIase ¥ U Holld
faeg e @Ry Hed g 8?2

(A) Electrolysis | faegd 3raeresT

(B) Electroplating | fdegd oue

(C) Electro copying| Seiarer sTehel

(D) Electro chemical equivalent | faege Irarafae Joarh

answer:D,

Q4. Which electronic circuit is used in an automatic voltage stabilizer to produce constant
output voltage? | fAReR 3M3EYE dledst &l 3cUTesT il & [T Teh FadTfiold dlecst TTSoR
3 R Sieiaie Tbe @1 39T AT ST §2

(A) Rectifier circuit | YfFehRR Tfdhe

(B) Amplifier circuit | TFIeITHIIR Afhe

(C) Oscillator circuit | gleteT Tfdhe

(D) Feedback circuit| Hrsse Afdhe

answer:D

Q5. What is the full form of abbreviation UPS? | Hf&Ted w11 JHITH T qouT §9 T 87
A) Uniform Power Supply

B) Universal Power Supply
) Unregulated Power Supply

D) Uninterrupted Power Supply

answer:D

(A
(
(C
(
Q5. Which is a frequency converter? | 3TTgfeY &eTac shieT AT 872

(A) Rectifiers | YfFewmrae
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(B) DC hoppers | DC aTaR

(C) Cyclo converters | TTSFal hoeacy

(D) DC to AC converters | DC & AC @eacdl
answer:C

Q6. Which feedback network is used for automatic voltage stabilizer? | T@arfold diecal
TSR & foIT fhg Bsses siede T 39T fhar SATdar 87

(A) Current divider network | &TRT f3a18sR Acas

(B) voltage divider network | afeesT f3a18s Aeash

(C) Tapped transformer network | €9 TIAHEFR scds

(D) Resistance temperature detector network | 9faRTer ATt 3 Acas

answer:B

Q7. What is the full form of PWM? | PWM &1 ‘{U‘r T FT 87
(A) Pulse Wide Modulation

(B) Pulse Width Modulation

(C) Phase Wide Modulation

(D) Phase Width Modulation

answer:B

Q8. Which electrical device is actuating the voltages in a stepped voltage stabilizer? |
TRUTECH dlocol FETASoR & shist AT T STRIUT dlecst i Alshd Y 6T 82

(A) Autostat | 3iTeIeee

(B) Output transformer | 3T3¢Ye AR

(C) Over voltage relay | 30X et Ry

(D) Under voltage relay | 37sX alecst Rl

answer:A

Q9. What is the purpose of output transformer in inverters? | Ss7d¢I & 313eYe TIABIFR &7
3CCRY FAT 8?2

(A) Step up input AC | 3eTqc T.HT. &I T&T 31T

(B) Step down input AC | $eT9e THT sl T 373

(C) Step up AC from amplifier | TFTIHRIRT ¥ TH T&T 37T

(D) Step down AC from amplifier | TFTeltraR & THT TCT 3137 Y

answer:C,

Q10. What is the effect in internal resistance of a discharged cell? | Te fSFarer & &
3R 9fay & 37 919 glar g2

(A) Increase | 3if8&

(B) Decrease | &vH

(C) Becomes zero | 2= &1 ST &

(D) Remain same | G 3§l &

answer:A

Q11. Calculate the voltage and ampere/hour, if four cells rated as 1.5V and 8 A.H are in
parallel? | @leesT 3R TFAT / € &1 I0TAT Y, Ife AR H 53 IR AT 1.5V IIR8AH &
FTTHICH TS E?

(A) 6V and 24 AH
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(B) 3V and 16 AH
(C) 4.5V and 8 AH
(D) 1.5V and 32 AH
answer:D

Q12. Which type of output transformer is used in automatic voltage stabilizer? | Taarferd
dlecst TeAelgoR H fohd TR o T3CYC SHHIER T ST FohaT STl 872

(A) Auto transformer | 3iTeT TAHIER

(B) Static transformer | T&fae grAwER

(C) Ring core type transformer | R3T X YR T TTHBE

(D) Ferrite core type transformer | RIS &R JehX T TRAHEFRT

answer:A

Q13. Which is the application of automatic stepped voltage stabilizer? | T@arferd TUTICY
dlecst TSR T I Fiel A1 82

(A) Geyser | ISR

(B) Grinder | S8

(C) Television | &dT R&&ET

(D) Pump motor | TIX a1l

answer:C

Q14. Which principle the constant voltage transformer works? | f@ad ateest erawER fhg
feid o F1e T 872

(A) Self-induction principle | ¥ 90T f&garrd

(B) Fall in potential principle | %ﬂ'q’tl'lﬁﬁl?ﬁﬂ'?f

(C) Ferro-resonant principle | %1- Hﬂmﬁﬁmﬁ

(D) Mutual induction principle | WWW

answer:C

Q15. Which is the function of an inverter? | 3=a¢3 ST ST HiT AT E?

(A) Converts A.C voltage into D.C voltage | A.C @feesl I D.C diecst H aRafdd aar &

(B) Converts D.C voltage into A.C voltage | D.C dlecst @I A.C dlecsl & IRafdd axarg

(C) Converts D.C voltage into higher D.C voltage | D.C @lecst I 3= D.C dieesl H gRafdd
AT ®

(D) Converts A.C voltage into higher A.C voltage | A.C aleesT & 3Td A.C alecsl & IRafdd
FATE

answer:B

Q16. Which transformer is used in servo voltage stabilizer? | @af dlecst TeaaBoR H foha
CTAHR T 3YIIET fohdT ST 872

(A) Step up transformer | T9 319 THHRRT

(B) Step down transformer | ¢ 3137 TRABFR

(C) Torodial auto transformer | 2RIf3Te 3fTEICERIAT

(D) Constant voltage transformer | faard ateest SAHRR

answer:C

Q17. Where square wave inverters are used? | d31 dlaT SeacX &l 3YITIT gl [T ST 872
(A) Computers | g
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(B) TV receiver | €rdt R&A&X

(C) DVD players | 31dTST TelRR

(D) General lighting | §THTeT HehIRA cTdEAT
answer:D

Q18. What is the type of A.C voltage stabilizer? | A.C GlecsT TSR I ThR 4T &7
L 3

1.'.‘4.':——, L
NPUT |

VILTAGE y CLITPUT

- A,

(A) Servo voltage stabilizer | @df dlecsT FTAGR

(B) Automatic voltage stabilizer | TaaTferd atecst +Ec|o1|$GIT

(C) Manual stepped voltage stabilizer | :ﬁ?rrsa?»r TETS dlecol TedaSol
(D) Constant voltage transformer stabilize | AT ateest TrawRR R

answer:C

Q19. How the backup time of UPS can be increased? | thﬁqwﬁmm
ThcT 87

(A) Increase the VA rating of UPS | gt & VA IfeaT g

(B) Increase the AH capacity of battery | et I TTT &7HdT S6IU

(C) Decrease the AH capacity of battery | eI fr AH &7HdT Ter

(D) Maintain battery terminal voltage always 90% of rating | et cffaer alecsT Sl AT 90%
Ifear sarT @

answer:B

Q20. Which instrument is used to check short circuit faults in electronic circuit in voltage
stabilizer? | Aecsl TETATSSR H Sl ieleh Hihe H ATC Tfhe a1y FI T Fat & fav v
3YHIOT T YT FoRaT STaT 82

(A) Ammeter | THICT

(B) Voltmeter | atec#ieX

(C) Ohmmeter | 31137 #Hrex

(D) Multimeter | AcSIHIET

answer:D

Q21. How the hard sulfation defect in secondary cells be prevented? | aﬁ?ﬂwﬂﬁﬁw
Hhe GV &l 8 JhT ST Fehel 672

(A) Provide trickle charging | feehel TTeT UeTa Y

(B) Provide freshening charge | ShRIf3T Tel YeTeT ¥

(C) Provide constant current charging | fa=a &IRT T1fSier UeTeT &

(D) Provide constant potential method charging | farara fasta fafer wnfster erar &Y

answer:A

Q22. What are the important stages in a simple inverter? | Te ATERUT Sede H Hscd‘-lc\ucl SES
FATE?
(A) Oscillator and rectifier stages | aleleh 3R fTESThRT T
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(B) Oscillator and amplifier stages | &eleh 3R TFTNHIIY TI0T

(C) Amplifier and transformer output stages | TFTeTHRIR 3R SHER HaTd ToT

(D) Oscillator, amplifier and transformer output stages | &leleh, TFTHTIR 3R TR
3cylce] TUT

answer:D

Q23. Which part in UPS supplies continuous output voltage in case of input voltage failure? |
AT A i A1 G SAYC dlecst T [atherdr & A # [@-eR 313eye atedst i 3mgfd
AT 872

(A) Battery unit | 33T gfeie

(B) inverter unit | $=acT JfeAc

(C) Rectifier unit | IFeHRR i

(D) Controller unit | f&T=0T TS

answer:A

Q24 What is the effect during loading of the cell the current strength falls and become zero?
| el & oIS gle I AT THTG ISl ¢ fob aie T dreht ARl & 3R e g1 e 82

(A) Buckling | Serfofar

(B) Polarization | ¢aehToT

(C) Local action | U= fehar

(D) Amalgamation | 3THTITH

answer:B

Q25 Which is the cause for the fault if the output voltage of UPS is higher than normal? | afg
JUTH T 33EYE dlecst QAT I 3118 & ol TR T HROT 4T 82

(A) Fault in inverter circuit | 3=a¢3 Afhe H W

(B) Battery is short circuited | SdI o &

(C) Mains earthing is not proper | #=g 3if¥er 3T AT &

(D) D Ampere hour (A.H) capacity of battery is not sufficient | eI I TFIIR 318X (A.H)
&THAT 9aTod 16l &

answer:D
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